
Angle Relationships
Geometry

Identify each pair of complementary angles.

p1 & p4,  p2 & p3 p1 & p3,  p2 & p4 p1 & p2,  p1 & p3
p4 & p2,  p4 & p3

Find the measures of complements of angles with these measures.
4)   51      5)   39           6)   76              7)   54         8) 90      9)  m 10)   x 0 0 0  0  0 0 0

90° - 51° = 39°     90° - 39° = 51°    90° - 76° = 14°    90° - 54° = 36°      No Comp.     90° - m°   90° - x°

Identify each pair of supplementary angles.

p1 & p2,  p3 & p4 p1 & p2,  p1 & p3 p1 & p4,  p2 & p3
p4 & p2,  p4 & p3

Find the measures of the supplements of angles with these measures.
14)   17       15)  141             16)  108        17)  55              18)  73         19)  a      20)  k 0 0 0 0 0 0 0

180° -17° = 163°  180° -141° = 39°   180° -108° = 72°    180° -55° = 125°  180° -73° = 107°   180°-a°    180°-a°

21)   pC �pD and mpC = 76 . Find the measure of0

the supplement of pD.

mpD = 76°, Supp. = 180° - 76° = 104°

22)   pJ �pK and mpK = 14 . Find the measure of the0

complement of pJ.

mpJ = 14°, Comp. = 90° - 14° = 76°

23)   pT �pV and mpV = 76 . Find the measures of0

the complement and supplement of pT.

mpT = 76°, Comp. = 90° - 76° = 14°

        Supp. = 180° - 76° = 104°

24)   pY �pZ and mpY = 33 . Find the measures of0

the complement and supplement of pZ.

mpZ = 33°, Comp. = 90° - 33° = 57°

        Supp. = 180° - 33° = 147°
25)   Two supplementary angles are congruent. What
is the measure of each angle? 

x + x = 180°
2x = 180°

x = 90°     Each angle measures 90°
26)   An angle is 20  greater than its’ complement. 0

What is the measure of the angles?
Complement = x,    Angle = x + 20

x + x + 20 = 90°

2x + 20 = 90° x = 35°

x + 20° = 55°



Are the angles in each problem adjacent angles? If not, why not?

YES NO NO YES NO
       No common vertex    No common side Overlapping

Tell whether p1 and p2 form a linear pair.

Given the measure of one angle, find the measures of the other angles at the intersection.

43)   pA and pB form a linear pair. m pA = 71 . Find the m pB.  m pB = 180° - 71° = 109°.0

44)   pP and pR form a linear pair. m pR = 153 . Find the m pP.  m pP = 180° - 153° = 27°.0

Find the measures of the angles whose measures are not shown
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